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1. Which of these perspectives emphasized a rational, scientific approach to the study of management and
sought to make organizations efficient operating machines?

The human relations movement

The behavioral sciences approach

The classical perspective

The quantitative management approach

The TQM approach

Which of these is a major criticism of scientific management?

a. It ignored the social context of work.

b. It ignored the impact of compensation on performance.

¢. It overemphasized individual differences.

d. It overemphasized the intelligence of workers.

e. It emphasized the social context of work.

3. Archies' Antiques, Inc., is characterized by separation of management from ownership and by clearly defined
lines of authority and responsibility. These characteristics are consistent with the principles of
a. scientific management.
b. bureaucratic organizations.
¢. administrative management theory.
d. human resource management.
e. all of the above.

4. UPS is successful in the small package delivery market. One important reason for this success is the concept
of
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globalization.
employee flexibility.
loose standards,
bureaucracy.
. non-bureaucratic organizational system.
5. The assembly line is most consistent with which of the following general principles of management?
Unity of command .
Division of work
Unity of direction
Scalar chain
Quality management
6. Which of these emphasized power sharing between managers and employees?
Humanistic perspective
Classical perspective
Scientific management
Bureaucratic organizations
. Contingency perspective
7. A “diary farm" view of management, i.e., contented cows give more milk, so satisfied workers will give more
work was espoused by
human relations management.
human resource perspective.
behavioral science approach.
management science perspective.
none of the above.
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8. are systems that unite a company's major business functions, such as order processing, product design,
purchasing, and inventory. '

a. Knowledge managements

b. E-businesses

¢. Enterprise resource plannings
d. Extranets -

e. E-commerces

9. If a company emphasizes that "no purchase is complete until the customer is satisfied," then it's
utilizing a symbol.

communicating its values to customers,

using a slogan to present their values to customers and employees.

utilizing a hero for the purpose of conveying values,

using customers to harass the employees.
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10. Leaders create a culture that everyone can believe in by directly involving employees in determining what the
company's ____ should be.
a. structure
b. values
c. budget

d. socialization process
e. selection process
11. Work team effectiveness is based on two outcomes: productive output and

a. cohesiveness.
b. satisfaction.
c. commitment.
d. leadership.

€. norms.

12. Donte, a manager at Stone Wall, Inc., has long resisted the idea of work teams. He fought their
establishment at Stone Wall and refuses to actively participate in team activities because of fears about his
own future at Stone Wall. Which of the following best explains Donte's attitude?

a. Freeriding

b. Coordination costs
c. Power realignment
d. Legal hassles

e. Social loafing

13. Remote Control Corporation sends a post-purchase questionnaire to all consumers who buy their products.
They are interested in gathering data on product quality, customer service orientation, and customer
satisfaction. This is an example of

a concurrent control.
a feedback control.

a feedforward control.
preliminary control.

_ preventive control.

opoow

14. Arbor Tree Corporation has a detailed set of organizational goals and management information system that
delivers timely and accurate information. Arbor Tree still has control problems, however, because its
managers refuse to act on the information they receive. Arbor Tree's control process has flaws in which of the
following areas?

a. [Its performance standards ‘
b. Its management information systems
c. Its ability to take corrective action when necessary
d. Its measurement systems
e. None of the above

15. Any organizational department or unit under the supervision of a single person who is responsible for its
activity is called a(n)

independent center.

responsibility center.

analysis center.

control center.

budgeting center.

16. Juanita is an area manager at Home Theater, Inc.  She anticipates her area's needs and formulates a proposed

budget every quarter. She then sends this proposal to her manager. This is an example of
top-down budgeting. :

strategic budgeting.

revenue budgeting.

bottom-up budgeting.

none of the above.

17. ____ control is implemented through the organization's administrative system

Clan '

Bureaucratic

Organizational

Administrative

Decentralized

Pae o
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- 18. Which of these is NOT an e-business strategy for integrating bricks and clicks?

Strategic partnership

In-house internet division

Cost-leadership

Spin-off .

All of these are e-business strategies for integrating bricks and clicks.
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19. Which of the following is the use of a huge database that combines all of a company's data and allows users to
access the data directly, create reports, and obtain answers to what if questions?

Data warehousing

Networking

Knowledge management

Data mining

None of the above

20. ___ isthe activities required to physically move materials into the company's operations facility and to move
finished products to customers.

Procurement management

Facilities management

Supply chain management

Logistics

Organizational displacement
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1. Assume an income tax system is introduced to an economy represented by the
traditional Keynesian model. The introduction of this income tax system will cause:
a. the aggregate expenditures schedule to become flatter

b. the MPC to increase c. theMPCtofall d. the aggregate
expenditures schedule to become steeper

2. ‘Which of the following best represents the transactions motive for holding money?
a. the incentive to hold money for use as a medium of exchange

b. the desire to hold money in the event of a need to make unplanned transactions
c. the need to hold money that arises from the interplay between interest rates and
the prices of financial assets { Plegse Chowse ohe of Thke.?

3. An increase in the current interest rate causes individuals to:

a. expect future capital gains from holding bonds

b. expect future capital losses from holding bonds

c. increase their holdings of money d. reduce their precautionary demand
for money '

4. Which of the following actions can be used to balance to the private payments?
a. increase in the money supply b. areduction in government spending
c. areduction in taxes d. all of the above

5. Suppose the domestic economy experiences an increase in GDP.  This increase in
domestic income, all else fixed, will cause:

a. aprivate payments surplus b. aprivate payments deficit
c. the BP schedule to shift up d. the BP schedule to shift down

6. Assume the domestic economy experiences a reduction in the interest rate.  This
reduction in the domestic interest rate, all else fixed, will cause:

a. aprivate payments surplus b. aprivate payments deficit

c. the BP schedule to shift up d. the BP schedule to shift down

7. The effects of a change in the price level on equilibrium income best explain which
of the following schedules? o

a. theIS schedule b. the LM schedule c. the AS schedule

d. the AD schedule

8. Suppose there is an increase in the price level (P) In terms of the IS-IL.M
" framework, this increase in P will cause:
an increase in output and an increase in the interest rate
a reduction in output and an increase in the interest rate
an increase in output and a reduction in the interest rate
a reduction in output and a reduction in the interest rate

an o'e

9. Which of the following is NOT consistent with the rational expectations
hypothesis? '
a. individuals use past information when forming expectations’
b. individuals use current information when forming expectations
¢. individuals understand what factors affect macroeconomic variables
- d. individuals can perfectly predict future values of macroeconomic variables
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10. Which of the following represents the basis of the new classwal theory? -
a. individuals are motivated by self-interest

b. wages are perfectly flexible c. prices are perfectly flexible
d. all of the above

11. Nominal wage contracts tend to exist because:

a. firms would not prefer to pay lower nominal wages if consumers demand fewer
of the goods and services the firm produces

b. workers would not prefer to earn higher nominal wages if the demand for their
skills increases

c. contracts can minimize the labor-market transaction costs assomated with an
auction market for labor skills

d. all of the above

12. Assume workers and firms correctly anticipate the price level and that wages are
set based on the modern Keynesian theory of contracts. In this case employment
will be: .

greater than the full-information value of employment

less than the full-information value of employment

equal to the market clearing value of employment

less than the level of employment that occurs in the classical labor auction market

pooe

13. The Great Depression remains an event of considerable interest to economists.
Which of the following represents the great puzzle posed by the Great Depression?

the short-run effects of the drop in aggregate demand on output

the short-run effects of the drop in aggregate demand on the price level
the effects of the drop in the nominal money stock on aggregate demand
none of the above o
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14. Price inertia refers to:

a. the effects of the nominal money stock on the price level

b. the rigidity of the real wage c. the persistence of any drop in output
d. the sluggishness of price adjustments

15. Which of the following can be used to hedge against foreign exchange risk?
a. forward currency contracts

b. interest rate forward contracts

¢. interest rate swaps

d. all of the above

16. Under pure competition, we would expect that:

a. asufficiently large number of buyers and sellers of a good or service exists so that
no one buyer or seller can affect the price

b. each buyer is a price taker

c. each seller is a price taker

d. all of the above

17. Which of the following variables can change in the short run?

a. capital b. land ¢. technology ~d. labor
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1. Consider the Cobb-Douglas production function Q(L,K)= AI°K”, Where
4,a,p are all constants. Assume the price of input L is w, the price of input
K is r.

(a) Calculate the elasticity of substitute o .

(b) Dose it exhibit increasing, decreasing, or constant réfarns to scale? (Hint: it
may be dependon o angd: S.)

(c) Find the labor demand curve and calculate its price elasticity.

(d) Given w=r=1, find the cost function C(Q), AC(Q), MC(Q), respectively.

(¢) Given w=r=1,Intheshortrun, k¥ isfixedat 10 ,find AC,AVC,AFC,
and MC. - °

2. Assume that your firm produces two products, the demands for which are
independent. You face four groups of consumers with the following reservation

prices:
Consumer , Good 1 (8) Good 2 ($)
A . 70 30
B 55 40
Cc 40 55
D 30 70

Assume that there are 50 consumers in each group.

(@) Consider three alternative pricing strategies: (i) selling the goods separately;
(ii) pure bundling; (iii) mixed bundling. If both products are produced at zero
marginal cost, determine the optimal prices and the resulting profits under the
best strategy. '

(b) Now suppose that the production of each good entails a fnarginal cost of $35.
How does this information changes your answer to (a).

3. Assume there are two firms which produce homogeneous goods in a market. The
market demand is given by P = 100-Q, Q=q;+qz, where q; and gz present the -
quantity produced by firm 1 and firm 2, respectively. The cost functions of the
two firms are Cy(q1) =10 q; ,Cx(qz) = 12 q, respectively.

(a) If the two firm choose their price simultaneously (Bertrand competition), what
is the market equilibrium price and the resulting profits of the two firms.

(b) Ifthe two firm choose their quantity simultaneously (Cournot competition),
how many quantities will the two firms produce in equilibrium and the
resulting profits of the two firms. '

(o) If the two firm choice their quantity sequentially(Stackelberg game): firm 1
chooses its quantity first, and then firm 2 make its quantity decision after
knowing q;. How many quantities will the two firms produce in equilibrium
and the resulting profits of the two firms.




B P L RBAT WEEEAE LG A SRR

#8 : %EB7, [@%_%zﬁ:}_—i}i"?’iﬁaéﬂ]

IRy

/'

A

il

© WEERYILI T &4 1 GBI S 5 - #3140 )

. BRI (scale diseconomics)

FFR B (synergistic merger & acquisition)

Fiedler 1§ I HEEFEER | (co gnitive resource theory)

i VAR N )

Kaplan B Norton HIZE #7543k (balanced scorecard)
AH#BE % (organization change)

Eliyahu Goldratt /¥y " [R&E | (Theory of Constraints, TOC)
ABC [E{7#{#(ABC inventory planning)

momEOaw >

* FE R FERITTERFREELILHNES) ( Marketing Evaluation and Control YHE

A A AE T B AT B A Y B R Bk A TEE 8l © SRR GRS
Z oo (1543)

S AT R E IR RS TR ( Implementation Skills ) [/

PRI T B RO R A WL EAOSS  EAE ? USRS - (15
)

C A HEEREE 90 S TQM QAMES » B2 ARR - 90

FARE  ANEHERRIEXMF BN TNERE  IMEZ 2 IR -
AMIE TOQM BABHEATEBHEAREENEE - (154

BB RIS ERRE - BMEAREHE—THHL L iPod - BEEEEE

BIETTS > WEETEF - 2005 FRPEABRMR ST mE
#ELt) iPod Shuffle, BEH LCD BUREE » FEEERIEI A8 1397 FM
BCSTHRE - FURBEMIBIMIER - & S P SRR AL 22

8F — M AR - BRI RIS - BAISAT CEO.

WEMHEE » iPod Shuffle HHIRAHINS LY MP3 SEMEHE:E - A Tl
iPod Shuffle FRTE - (15 43)




B3P LR B A+ AR L A4 £

CBBRL [eFAEEETECA]

S

HE—AHE: (504 ERE109

1 What are agency costs, and who bears them?

2 Life insurance companies have to pay administrative costs and sales
representatives’ commissions, hence, the expected rate of return on insurance
premiums is generally low, or even negative. Use the portfolio concept to
explain why people buy life insurance in spite of negative expected returns.

3 What is the difference between a fixed exchange rate system and a floating rate
system? What are the pros and cons of each system?

4 Why is a reputation for honesty and fair business practice important to the value
of the corporation? Use the NPV concept to answer.

5 Please define the following terms.
5.1 dominant strategy
5.2 opportunity cost

HIRRE (504 BUINE 10 5)
Questions 1 to 3 are True/False questions. Decide whether each statement is true or

false and justify your answer with a short argument. Answers without justification

receive zero points.

1. Improvements in health that increase the elderly population tend to increase the

unemployment rate.

2. A monetary contraction cannot affect the public budget since it is rot a fiscal

policy.

(98]

Even when an industry fails to meet all of the requirements for pure competition,
consumers will be well served if low barriers make it easy for additional firms to

enter the industry.

4. Suppose that the economy is in equilibrium at potential GDP and that
policymakers increase aggregate demand (perhaps because they do not recognize
that the economy is operating at potential). Discuss the short-run and long-run

impact of this change.

5. Milton Friedman suggests that although it makes sense to subsidize a general
education in the liberal arts, it makes much less sense to subsidize purely

vocational training. What do you suppose the logic behind that distinction?

T e [
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1. Which of these is not a management competency?
"~ a. Leadership
b. Resources
c. Relationships
d. Design
e. Focus
2. Which of these is a major criticism of scientific management?
' a. It ignored the social context of work.
b. It ignored the impact of compensation on performance.
¢. It overemphasized individual differences.
d. It overemphasized the intelligence of workers.
‘e. It emphasized the social context of work.
3. Archies' Antiques, Inc., is characterized by separation of management from ownership and by clearly defined

lines of authority and responsibility. These characteristics are consistent with the principles of
a. scientific management.

b. bureaucratic organizations.
¢. administrative management theory.
d. human resource management.
e. all of the above.
4. UPS is successful in the small package delivery market. One important reason for this success is the concept
of
a. globalization.
b. employee flexibility.
¢. loose standards.
d. bureaucracy.
e. non-bureaucratic organizational system.

5. The assembly line is most consistent with which of the following general principles of management?
a. Unity of command .
b. Division of work
¢. Unity of direction
d. Scalar chain
e. Quality management
6. Which of these emphasized power sharing between managers and employees?
a. Humanistic perspective '
b. Classical perspective
¢. Scientific management
d. Bureaucratic organizations
e. Contingency perspective

7. A "diary farm" view of management, i.e., contented cows give more milk, so satisfied workers will give more
work was espoused by

human relations management.

human resource perspective.

behavioral science approach.

management science perspective.

none of the above,

opoop

8. are systems that unite a company's major business functions, such as order processing,
purchasing, and inventory.

a. Knowledge managements

b. E-businesses

c. Enterprise resource plannings
d. Extranets .

€. E-commerces

product design,

9. Ifacompany emphasizes that "no purchase is complete until the customer is satisfied." then it's
utilizing a symbol. ’

communicating its values to customers.

using a slogan to present their values to customers and employees.

utilizing a hero for the purpose of conveying values.

using customers to harass the employees.
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| 10. Leaders create a culture that everyone can believe in by directly involving employees in determining what the
company's ____should be. '
a. structure
b. values
c. budget
d. socialization process
e. selection process
11. In which of the following ways do service organizations differ from manufacturing organizations?
a. In manufacturing organizations, the customer is directly involved in the production
process.
b. Inservice organizations, employees are generally more satisfied.
¢.. In manufacturing organizations, the manufactured product cannot be placed in inventory.
d. In service organizations, the customer is directly involved in the production process.
e. Inservice organizations, the final product can be stored in inventory.
12. ____ is the best way to control operations.
a. Strategic planning
b. Bureaucratic control
¢. Clan control
d. Rules and regulations
e. All of the above
13. ____ isthe term for managing the sequence of suppliers and purchasers, covering all stages of processing
from obtaining raw materials to distributing finished goods to final consumers.
a. Procurement management
b. Supply chain management
c. Customer satisfaction
d. Logistics
e. Competitive advantage
14. A small or medium-sized automated production line that can be adapted to produce more than one product
line is referred to as a :
a. materials requirement planning,
b. reliable production system.
c. flexible manufacturing system.
.d. dependent demand system.
L & MRPIL . et
15. Why do companies try to keep inventory low?
a. It keeps production stable.
b. Money ‘that is not tied up with inventory can be used for other purposes.
¢. * The lower the inventory, the more flexibility the company has.
d. It keeps the employment in check.
e. It keeps the raw materials market balanced.
16. — is one popular technique designed to minimize the total holding costs and ordering costs for inventory
items. '
a. Dependent demand inventory
b. Economic order quantity
¢. Materials requirement planning
d. Manufacturing resource planning
e. Independent order quantity
17. Which of the following is the use of a huge database that combines all of a company's data and allows users to
access the data directly, create reports, and obtain answers to what if questions?
a. Data warehousing -
b. Networking'
¢. Knowledge management
d. . Data mining '
e. None of the above
18. Youget__ when an organization's output of goods and services is divided by its inputs.
a. equity '
b. productivity
c. current ratio
d. profit
e. economic order quantity
19. When managers do a better job of running a business, it is called
a. worker productivity.
b. production.
¢. managerial productivity.
d. outsourcing, -’
e. - technological productivity.
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20. Arbor Tree Corporation has a detailed set of organizational goals and management information system that
delivers timely and accurate information. Arbor Tree still has control problems, however, because its
managers refuse to act on the information they receive. Arbor Tree's control process has flaws in which of the
following areas?

Its performance standards

Its management information systems

Its ability to take corrective action when necessary

Its measurement systems

None of the above ’
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1. Eco-efficiency
2. BOBOs
3. offshoring
4, hygiene factor
5. empowerment
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1.  Which of the following statements about U.S. inflation is false?
a. Low inflation was viewed as a triumph of President Carter's economic policy.
b. There were long periods in the nineteenth century during which prices fell.
c. The U.S. public has viewed inflation of even 7 percent as a major economic
problem.
d. The U. S. inflation rate has varied over time, but international data shows

even more variation.

2. In the open-economy macroeconomic model, the supply of loanable funds comes
from
a. national saving.
b. private saving.
c. domestic investment.
d. the sum of domestic investment and net capital outflow.

3. - Which of the following typically rises during a recession?
a. unemployment '
b. garbage collection
¢. corporate profits
d. antomobile sales

4. Which of the folldwing reasons for the downward slope orffie aggregate demand

curve would likely be more important for a small economy than for the United
States?

a. the wealth effect

b. the exchange-rate effect
c. the interest-rate effect
d. the real-wage effect

5. Those who desire that policymakers stabilize the economy would advocate which
of the following when aggregate demand is insufficient to ensure full
employment? '

a. decrease the money supply

b. decrease taxes

c. decrease government expenditures
d. None of the above is correct.

6. If a country allows trade and the domestic price of a good is higher than the world

. price,

. the country will become an exporter of the good.

. the country will become an importer of the good.

the country will neither export nor import the good..

. additional information about demand is needed to determine whether the
country will export or import the good.

pae o
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7. Policymakers choose to enact price controls in a market because
a. they believe that the market system is 1nefﬁ01ent and their actions will
improve efficiency.
b. enacting price controls will directly increase tax revenues.
c. they are required by law to improve market conditions.
d. they believe the market’s outcome to be unfair.

8. Cyclical unemployment refers to
a. the relation between the probability of unemployment and a worker’s
changing level of experience.
b. year-to-year fluctuations of unemployment around its natural rate.
¢. how often a worker is likely to be employed during her lifetime
d. long-term trends in unemployment.

9. Barter ‘

requires a double-coincidence of wants.
is less efficient than money.

is the trading of goods for goods.

All of the above are correct.

ae o

"10. Which of the following best 111ustrates the medium of exchange functlon of
money?

You keep some money hidden in your shoe.

. You keep track of the value of your assets in terms of currency.

You save your money in a bank.

You pay for your double Latte using currency.

poop

11. Nominal wage contracts tend to exist because:

a. firms would not prefer to pay lower nominal wages if consumers demand fewer
of the goods and services the firm produces

b. workers would not prefer to earn higher nominal wages if the demand for their
skills increases

¢. contracts can minimize the labor-market transaction costs associated with an
auction market for labor skills

d. all of the above

12. Assume workers and firms correctly anticipate the price level and that wages are
set based on the modern Keynesian theory of contracts. In this case employment
will be:

a. greater than the full-information value of employment

b. less than the full-information value of employment

c. equal to the market clearing value of employment

d. less than the level of employment that occurs in the classical labor auction market

13. The Great Depression remains an event of considerable interest to economists.
Which of the following represents the great puzzle posed by the Great Depression?

the short-run effects of the drop in aggregate demand on output

the short-run effects of the drop in aggregate demand on the price level
the effects of the drop in the nominal money stock on aggregate demand
none of the above

o op
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14 Prlce inertia refers to:

a. the effects of the nominal money stock on the price level
b. the rigidity of the real wage ¢. the persistence of any drop in output
d. the sluggishness of price adjustments :

15. Which of the following can be used to hedge against foreign exchange risk?
forward currency contracts
interest rate forward contracts
interest rate swaps

* all of the above

e o

16. Under-pure competition, we would expect that:

a. asufficiently large number of buyers and sellers of a good or service ex1sts so that
no one buyer or seller can affect the price

b. each buyer is a price taker

c. each seller is a price taker

d. all of the above

17. Which of the following variables can change in the short run?

a. capital b. land c. technology - .- d. labor

B3 HESMR (1(c) MEAS RBEIEE D 249 4)

1. If a consumer has preferences between two goods, x and y . His preferences
over the two goods can be presented by the Cobb-Douglas utility function
“u(x,y)=rx"y", where r,a,b are all constants. Assume the priceof x is p,,
the priceof y is P, , and the consumer’s income is /.
(a) Drive the optimal choice (x*,y") and the indirect utility finction
V(PP ). '

(b) Drive the consumer’s individual demand curve for the good x. If there are 10

consumers in the market with the same preference described above, find the
market demand curve.

(c) Drive the Engel curve of the consumer.

(d) Assume r=a=b=1,p =9, p, =1, I =72, use Hicksian decomposition to
calculate the numerical values of the i Income and substitution effects when 2,
fallsto 4. '

(® If r=1,a=b=1, =100, p.=p, =1, calculate the numerical values of

' ACS (the change of consumer surplus), compensating variation (C.V.), and
equivalent variation(E.V.) when p, raisesto 2,
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2. Assume that you are an executive for Super Computer, Inc. (SC), which rents out
super computers. SC receives a fixed rental payment per times period in exchange
for the right to unlimited computing at a rate of P cents per second (this is so-called
two-part tariff). SC has two types of potential consumers of equal number — 100
businesses and 100 academic institutions. Each business consumer has the demand
function Qp, = 30~~1.5P, where Q is in millions of seconds per month; each
academic institution has the demand Q, = 40—2P. The marginal cost to SC of
additional computing is 6 cents per second, regardless of volume.

(a) Suppose you could separate business and academic consumers. What rental
fee and usage fee would you charge each group? What are your profits?

(b) Suppose you could not tell business and academic consurhers. You set up one
two-part tariff. What usage and rental fee will you set? What are your profit?

3. Assume there are two firms which produce homogeneous goods in a market. The
market demand is given by P = 100-Q, Q=q,+q,, where q, and g, present the
quantity produced by firm 1 and firm 2, respectively. The cost functions of the two
firms are Ci(q:) = 10 q1 ,C2(q2) = 12 qp, respectively.

(2) If the two firm choose their price simultaneously (Bertrand competition), what
is the market equilibrium price and the resulting profits of the two firms.

(b) If the two firm choose their quantity simultaneously (Cournot competition),
how many guantities will the two firms produce in equilibrium and the
resulting profits of the two firms.

(c) If the two firm choice their quantity sequentiaily(Stackelberg game): firm 1
chooses its quantity first, and then firm 2 make its quantity decision after
knowing q;. How many quantities will the two firms produce in equilibrium
and the resulting profits of the two firms.
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1 What is the law of one price? How can one offset foreign exchange risk through

a transaction in the forward markets?
2 What are agency costs, and who bears them?

3 Life insurance companies have to pay administrative costs and sales -
representatives’ commissions, hence, the expected rate of retur.n on insurance
premiums is generally low, or even negative. Use the portfolio concept to
explain why people buy life insurance in spite of negative expected returns.

4  Explain why sunk costs should not be included in a capital budgeting analysis,
but opportunity costs and externalities should be included.

5 Please define the following terms.
5.1 moral hazard

5.2 information asymmetry

BIRRE 1 (5043 - B/INE 10 43)
Questions 1 to 3 are True/False questions. - Decide whether each statement is true or

false and justify your answer with a short argument.  Answers without justification

receive zero points.

1. Improvements in health that increase the elderly population tend to increase the

unemployment rate.

28]

A monetary contraction cannot affect the public budget since it is not a fiscal

policy.

(O8]

Even when an industry fails to meet all of the requirements for pure competition,

consumers will be well served if low barriers make it easy for additional firms to

enter the induétry.

4. Suppose that govemment spending in support of education was increased.
Would this action shift the aggregate demand curve, the aggregate supply curve,

or both curves? What would happen to the price level and real GDP?

5. If we force firms to stop polluting, the result will probably be higher product
prices. Is that good or bad? Why?




